
ANSWERS FOR 5.4 
For use with pages 277–280
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5.4 Guided Practice

2. Sample answer: The real part
should be the same and the
imaginary part should be the
opposite of the given imagi-
nary part; �5 � 2i.

4. �3i 6.

8. 6 � i

10.

12. 3 14.

16. Sample answer: It does not
because the absolute values
become infinitely larger.

5.4 Practice and Applications
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68. 70.

72. Sample answer: No, because
the absolute values become
infinitely large.

74. Sample answer: It does
because the absolute values
are less than N � 2.

76. Sample answer: It does not
because the absolute values
become infinitely large.

78. Sample answer: It does
because the absolute values
are less than N � 1.

80. false 82. true

84. false; Sample answer: Let
the real number 4 � 5 � i2;
its complex conjugate is 
5 � i2 which is equal to 6; 
4 ≠ 6.

86. a.
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88. true; false 90. true; true

92. no

94. a. �1 � i; 

b. �3 � i; 

c. 2 � 8i; � � i
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100. a. 1; i; �1; �i; 1

b. Sample answer: The
pattern is i, �1, �i, 1; 
i9 � i, i10 � �1,
i11 � �i, i12 � 1

c. �1; �i

5.4 Mixed Review
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